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L HETEN
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_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
307 gI2told 174,500 175,000 A500
| 56,000
< 42,400
Al 76,100
05 2ItRAES 174,500 175,000 2500
O¥ad 2H2g 174,500,000 174,500
Il 56,000
= 42,400
Al 76,100
HFAEEH 022 A HIXI XA 19,200 0 19,200
= 5,760
Al 13,440
307 21201 19,200 0 19,200
& 5,760
Al 13,440
05 QIZtRE= 19,200 0 19,200
O&FEAEEE ORIZ2X BHXIXIE
19,200,000& 19,200
= 5,760
Al 13,440
ZIIE FAESEU=N dEtHe XA 17,500 20,000 A2,500
= 5,250
Al 12,250
307 212+0| & 17,500 20,000 22,500
= 5,250
Al 12,250
05 BIZtRE= 17,500 20,000 22,500
OZJ1E EAESg0=M =& 17,500,000 17,500
= 5,250
Al 12,250
FALERERRE 29 10,000 10,000 0
| 5,000
Al 5,000
307 21201 10,000 10,000 0
| 5,000
Al 5,000
05 QIZtRE= 10,000 10,000 0
OFEAEURIERRE 29 10,000, 000& 10,000
| 5,000
Al 5,000
g t= OBtHI0l 2EX& 319,316 563,400 A244,084
307 gI2to|d 319,316 563,400 A244,084
05 2IZtRAES 319,316 563,400 A244,084
O&F4Ad g=0t001=24 319,316,000& 319,316
FA2UESHAE XNEA BIXIX A 95,760 95,760 0
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_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
| 47,880
Al 47,880
307 21201 95,760 95,760 0
| 47,880
Al 47,880
05 QIZtRIE= 95,760 95,760 0
OFAEEAE EAFXNZA X
95,760,000 95,760
| 47,880
Al 47,880
FEIZZ )Y =249 ¢ 2435 A& 26,520 46,400 219,880
| 13,260
Al 13,260
307 21201 26,520 46,400 219,880
| 13,260
Al 13,260
05 QIZtRIE= 26,520 46,400 A19,880
OZBHAESPAE D208 2N
26,520,000& 26,520
| 13,260
Al 13,260
ZOHEAED SN St 2stHE 10,000 10,000 0
= 3,000
Al 7,000
307 21201 10,000 10,000 0
= 3,000
Al 7,000
05 QIZtRE= 10,000 10,000 0
OFMEAHW S ol 23tAE
10,000, 000& 10,000
S 3,000
Al 7,000
B4 SEN=Es #2435 17,000 17,000 0
301 LEIEAE 5,000 5,000 0
10 HAAHIE NS 5,000 5,000 0
OFJNE FAH ZEM=HM SH24
10,0002 450 4,500
OZJIE E4d H=H £H24
10,000 x50 500
307 2I2+0I M 12,000 12,000 0
10 AlRIZXIE X 12,000 12,000 0
OFAEHN &3 X 12,000,000& 12,000
F4E =02 s N& 26,000 22,000 4,000
| 10,400
S 7,800
Al 7,800
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05 2IZtRAES 26,000 22,000 4,000
O&Fad s0tel s A& 26,000,000& 26,000
Il 10,400
= 7,800
Al 7,800
MRS 2EXA 3,000 3,000 0
| 1,500
Al 1,500
307 21201 3,000 3,000 0
| 1,500
Al 1,500
05 BIZtRE= 3,000 3,000 0
OXANU?AE2 2SN 3,000,000& 3,000
| 1,500
Al 1,500
BAFASUL 2 80,000 70,000 10,000
| 35,000
< 10,000
Al 35,000
307 gI2told 80,000 70,000 10,000
J| 35,000
< 10,000
Al 35,000
05 QIZtRE= 80,000 70,000 10,000
OFEAESEL 2203 2E X2
80,000,000& 80,000
| 35,000
S 10,000
Al 35,000
WWNFEssEz Il 23 9,720 0 9,720
307 21201 9,720 0 9,720
02 QA AEE 9,720 0 9,720
OXI=Ess Z20H 2N 29
9,720,000& 9,720
FIINHAE oM 25} 344,563 341,742 2,821
| 40,000
< 6,936
Al 297,627
FAHE ESES 23t 91,891 87,698 4,193
201 LErH23H| 18,691 16,498 2,193
01 AtS2elH| 14,916 12,898 2,018
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A DSHAED
B FAE A5
[u]

ol SDIEAE OEY chol: &
SA B ER(S) - MRAE - BaS Of &r e HIDE
05 QIZtRE= 80,000 80,000 0
OFAHNSTRME KR (AIXE)
80,000,000 80,000
Jl 40,000
Al 40,000
CHRSH(FL2ENCAR ) Fe =S N 1,872 2,744 A1,372
[ 686
Al 686
301 eet2a=s 1,372 2,744 A1,372
= 686
Al 686
02 Zet=sti= 1,372 2,744 A1,372
OLHRSTHEAEXNZAY ) EetS K&
1,372,000 1,372
[ 686
Al 686
gdsts TAlXd 477,818 262,874 214,944
BAstSEAl Jlgtxl 131,318 42,624 88,694
gdistigdy 29 122,918 14,224 108,694
101 el24| 9,474 0 9,474
04 JIZHZ2Z2XNSES 9,474 0 9,474
OAlglstsdly 2el AfY 9,474
—Jl== 34,560 x1H 200! 6,912
— =g 34,5603 x1H 40 1,383
—Exrg 34,5602 x1H+10& 346
—ATHES 8,641,000&10/1,000 87
—IEEE 8,641,000&%13/1,000 13
—=2lH3 8,641,000&4+45/1,000 389
—2d23=2E 8,641,00024%26.5/1,000 229
—LEAIRALEE 229,000 *65.5/1,000 15
201 Lpret] 41,880 12,064 29,816
01 AtR2elH| 26,208 6,664 19,544
OHIE! OIAHHIE 1,840,000 1,840
OEAZE(ER) 2,100,000& 2,100
OQHHEH(LEDZHE Al EH Y S)
13,900,000 13,900
ORoZtl 292 90,0003 *12& 1,080
OSAD| 8xt= 142,000 «20H 123 3,408
Ogdsts M| 10,0002 =100 1,000
Oget=Z4| 50,0002 x38 *12& 1,800
Oz ] 30,0002 *x3«12& 1,080
02 E3=23Hl 15,672 5,400 10,272
OdJl & & -ot=kR=s 15,672,000& 15,672
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FAH nsHEAE
HE: BASE CAXY
CHel: BMSIST Al JIgtEd (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
202 0ddl 2,160 2,160 0
01 2L 2,160 2,160 0
OSSR YREFI|=0iH|
60,0002 x3H+12& 2,160
405 XHatF SHI 69,404 0 69,404
01 ML ESESFH = 69,404 0 69,404
O (KA oK, 2], HIOIZ)
53,974,000& 53,974
OgEzHE 6,880
—Hus® 2,440,000 = 1CH 2,440
-5 2usHE 1,110,000 *4CH 4,440
OSIOIEBE(HEEE) 1,000,000 54 5,000
OFZES3= 1,200,000 *2CH 2,400
OZelH 850,000 = 1CH 850
OBAMEST] 300,000 = 1CH 300
EAMSISALY 8,400 8,400 0
201 23] 8,400 8,400 0
01 AtR2teltl 6,400 6,400 0
Ostsgos &Y 70,0002 10 23] 1,400
Ogdsls g2 N 5,000,000 5,000
02 2524l 2,000 2,000 0
Od= BMSIsE3 Hald 2,000,000& 2,000
gasts M8 346,500 220,250 126,250
gdstsxZ Y 29 57,500 21,500 36,000
201 2Bt 7,500 1,500 6,000
03 A2 7,500 1,500 6,000
OEMSIs AR A== 300,000 * 10t & *53] 1,500
OgMsts AEZXY 6,000,000& 6,000
307 2I2+0I M 20,000 20,000 0
02 QItAASE X 20,000 20,000 0
O==stss0tel XA 500, 000& 20K 10,000
OEBMsls O0t=2t=J] N&AE 10,000,000 10,000
308 AXISHMSOoIH 30,000 0 30,000
05 KXIHAZ2RES 30,000 0 30,000
OBMIS ey SE2HIE 293
30,000,000& 30,000
Hasts =M 66,000 65,750 250
201 LEt23H| 50,000 49,750 250
03 A2 ZHI 50,000 49,750 250

- 250 -




A DSYAHD
I YIS CAEY
ool BMStE XS (e &2
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
OM72l SHAl BHsts =HHE
38,000,000& 38,000
O&= 2 A& ddss =M &t
12,000, 000& 12,000
202 O4Hl 2,000 2,000 0
01 = Lo 2,000 2,000 0
OEMSISEN 2 J20HI(X=, ED|
<) 2,000,000& 2,000
301 LEtEAzE 14,000 14,000 0
10 At HI2 A= 14,000 14,000 0
OEMsIEEN 2RO BEA(HF, HIIE)
2,000,000& 2,000
OHM7al ddsts SH 00t 2208 29
]l 200, 0003 »40H 8,000
OM7al Bdsts=HM S22 08 0 X
g4 200, 000& x20E 4,000
oMol S WA 70,000 100,000 A 30,000
307 21201 70,000 100,000 /30,000
02 SI2tHAE X 70,000 100,000 /30,000
OHAZXMNE WEAZE K& 70,000,000& 70,000
HMSISHESRA XA 23,000 0 23,000
201 2Bt 23,000 0 23,000
03 A2 23,000 0 23,000
OUE<f3 XI& 23,000,000& 23,000
1SAl 1E43 228 X 100,000 0 100,000
201 LEr23H| 100,000 0 100,000
03 AR 100,000 0 100,000
O1ZAl 1E4s T2 ]&#2F 100,000,000 100,000
Lxtel AAH SSHALY 30,000 33,000 A3,000
307 21201 30,000 33,000 A3,000
02 SI2tHAE X 30,000 33,000 23,000
Ol s SdstMg X
30,000, 000& 30,000
w33 =4 20,990,642 4,372,082 16,618,560
=34l XA 10,783,355 4,372,082 6,411,273
SENRE= &8s 840 1,680 2840
201 2pH23H| 840 1,680 2840
01 AtR22lt| 840 1,680 2840
Ostu k2SS IHR/S &Y
70,0002 x6E *23] 840




FA WsFHaE
MM NSEY X4
&2l ws3dl X CERE
- PSIE
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
Stuuw= X3 10,782,515 4,370,402 6,412,113
308 XXM SOIH 10,782,515 4,370,402 6,412,113
06 nIJ|20UEES 10,782,515 4,370,402 6,412,113
ORAHYUBZWAF XML (HEZ S 36H1)
840,000,000 840,000
Oolstd XA (FAGLE S 5H1)
1,200,000,000& 1,200,000
OsAANE X & N (xS 5H)
412,551,000& 412,551
OnsAIE HE (= S 129H1)
629,165,000 629, 165
Oused MG (HEE S 430 12)
5,796,359,000& 5,796,359
OJIEME (RESI & =540 72¢)
417,000,000 417,000
OllzusS3X7 29 1,413,600,000& 1,413,600
OZdsisnd 28(1F= S 60Hw)
73,840,000 73,840
StaAXH 10,204,087 0 10,204,087
eFRagA 10,204,087 0 10,204,087
201 Ler2 | 14,200 0 14,200
01 AR 2t2Ibl 14,200 0 14,200
O DSAMNFINE L ALEHS ALY
70,0002 * 158 *43] 4,200
OSLAZAE AT S
1,500,000& *22] 3,000
OzatadRdgs 22 & 3,000,000 3,000
OREZRAZA 23| 4,000
— M 3,000& 1,000 3,000
—IM= 500,000 +2& 1,000
203 gR=8| 3,000 0 3,000
03 AIHZ=TE =] 3,000 0 3,000
Ouszd ge=a 3,000,000 3,000
301 LeEt2 N3 3,000 0 3,000
10 YAIMBIR S = 3,000 0 3,000
O ERd=A At HXI0HEE
50,0003 x20& *32] 3,000
308 NXIHHMSOIH 10,183,887 0 10,183,887
06 wsJ|20UeSELS 10,183,887 0 10,183,887
ORdaal N&  2,1003+53,883E x1802 *50% 10,183,887
IME=IN = 3,200 0 3,200
BN 3,200 0 3,200
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SH: DEHAED
M WsEE &4
crel: Bsxe (5] 22
SA - HH SR (B) - MRAY - BAS il &t e imE=T
201 223 3,200 0 3,200
01 AtR2teltl 3,200 0 3,200
OUStD NHRAT HE AAY
200,000 x4 3| x4H 3,200
HY2IHH (RIHAED 175,022 90,311 84,711
oI 23| 136,622 90,311 46,311
o124d| 133,622 90,311 43,311
101 Q12| 133,622 90,311 43,311
02 JIEtE &= 133,622 90,311 43,311
OAMZHIAAE SR Q124 H| 133,622
= 87,588
-2 (A F) 3,213,000& «1H 128 38,556
-2 (HE) 2,043,0003«2H*12& 49,032
—IEY 100,000 *3H 128 *35/40 3,150
— XS =g 3,961
L 51,990 »2H *43] 416
sstn 443, 1003 x2H x43] 3,545
— g Ex| 7,140
IS () 400,000« 1+ 122 *35/40 4,200
et2 (&) 140,000 x2H 128 *35/40 2,940
—ZAzAll| 130,000 x3H« 123 4,680
—ItE A= 1,131
2 (3,213,000 ¥70%) / 226%50 Al 2+ 498
A (2,043,000 x2H *70%) /226%50 A1 2+ 633
— 2R 4,650
s (e
((HH 85,300 )+(=UH2210A12H8,530 2,048
#))x128
ct=(Hd)
(M 54,200 )+(Z= U2 210A12H5,420 2,602
2))x 2% x128
—&&3z 87,588,000 x15% 13,139
—HLEE 87,588,000 *26.65/1,000 2,335
—ZASRES 87,588,000 *45/1,000 3,942
—1NE2E 87,588,000 *13/1,000 1,139
— A HEE 87,588,000& *7/1,000 614
—LOAIIQYUBE  2,335,000&%65.5/1,000 153
S244| 3,000 0 3,000
203 ¥R=&d| 3,000 0 3,000
04 2EN2IARFEYI 3,000 0 3,000
ORNM2IIRFAHI 250,000& *12& 3,000
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A DEYLED
M HZ2IIH(NFILEL)
&l =23l (S d &)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
J12ZHl 38,400 0 38,400
aet2d| 18,240 0 18,240
201 Ler2 | 18,240 0 18,240
01 AR 2t2IHl 18,240 0 18,240
OFAMESIIZ22HI 16,800
— 2 +E 50,0002 *14& 128 8,400
—=l 50,0003 *x14& *12& 8,400
OSAD| EXt2 120,000 =104 =122 1,440
Ol 20,160 0 20,160
202 OdH| 20,160 0 20,160
01 =LHNbI 20,160 0 20,160
PRI |20 120,000 x 14« 12E 20,160
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